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1P-1

2P-1

3P-1

P2

3P-3

4P-1

S-HD25 S-HD15

S-HD25 S-HDI5

S-HD25 S-HDI1S

S-HD25 S-HD15

S-HD25 S-HDIS

S-HD25 S-HDIS

PmaxkN/___m) 15.12 24.04 2940 29.83 30.14 3273
5 pmax(10 °rad) 67 67 67 67 67 67
Py(k\/ _ m) 873 1591 1938 19.64 19.22 2115
5 y(10°rad) 12.09 10.00 696 738 6.57 621
PukN/___ m) 1335 2215 2742 2771 28.02 3057
5 u(10rad’ 67 67 67 67 67 67
5 v(10°rad) 18 14 10 10 10 9
K(VMN/10"rad 072 159 278 266 293 340
u 368 4.85 685 646 7.01 751
Ds 040 034 028 029 028 027
Pu(0.2/Ds)
0N/ m) 673 13.06 1954 19.17 2022 22.89
2/3Pmax
N/ m) 10,08 16.03 1960 19.88 2010 2182
or_Pissorag 624 12.93 1890 1848 19.25 2158
B 7.29 14.57 2095 20.85 21.25 2402
(m) 091 1.82 273 273 273 364
N/ m) 673 13.06 1938 19.17 19.22 2115
(KN/m) 740 7.18 710 702 7.04 581
1 1 1 1 1 1
1 1 1 1 1 1
3.77 3.66 362 358 359 296
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522 3P-1 3
50% K 50%
P w(kN/. m) 19.41 0.21 0471 0.99 19.31
Pu(0.2/Ds)
(kKN/ m) 19.65 0.53 0471 0.99 19.40
2/3Pmax
(KN/ m) 19.86 0.25 0471 0.99 19.74
P1/120rad 21.02 0.21 0471 1.00 20.92
KN/ m) 19.31
(KN/m) 707
1.00
( ) 3.61
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(Heq) 531 15
532 16
531 1P-1
cycle Pmax 0 max Ke Pmin o min Ke verKe W AW Heq
0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1 3.305 6.030 0548 | -3933| -8.775 0.448 0489 | 27221 | 10.275 0.060
2 2.663 4.630 0.575 -2.892 -6.155 0.470 0.515 15.065 5.243 0.055
3 3.307 6.025 0549 | -2690| -5.755 0.467 0509 | 17.703 5.605 0.050
4 4.326 8.640 0.501 | -4538| -10.150 0.447 0472 | 41719 | 12530 0.048
5 4.496 9.045 0.497 -4.389 -9.535 0.460 0478 41.258 11.267 0.043
6 4561 9.245 0.493 -4.334 -9.530 0.455 0474 41.735 11472 0.044
7 5612 | 13.660 0411 | -5428 | -13.725 0.395 0403 | 75.580 | 25.138 0.053
8 5703 | 14.265 0.400 | -5420| -13.720 0.395 0397 | 77.858 | 22.325 0.046
9 5.588 13.870 0.403 -5.364 | -13.710 0.391 0.397 75.523 21.205 0.045
10 6503 | 18.290 0.356 | -6.338 | -18.300 0.346 0351 | 117.463 | 39.870 0.054
11 6511 | 18.495 0352 | -6.241| -18.285 0.341 0347 | 117.269 | 32.568 0.044
12 6.470 18.705 0.346 -6.213 | -18.270 0.340 0.343 | 117.266 33.161 0.045
13 7.995 27.725 0.288 -7.765 [ -27.425 0.283 0.286 | 217.308 88.255 0.065
14 7869 | 27.725 0.284 | -7.612| -27.600 0.276 0280 | 214130 | 61.915 0.046
15 7856 | 27.945 0281 | -7501| -27.375 0.274 0278 | 212.438 | 59.604 0.045
16 9.264 36.955 0.251 -8.843 | -36.365 0.243 0.247 | 331.963 [ 132.447 0.063
17 9.005 | 36.760 0.245| -8.634 | -36.120 0.239 0242 ]| 321442 | 92429 0.046
18 8945 | 37.370 0.239 | -8500| -36.325 0.234 0237 | 321519 | 87524 0.043
19] 10.891 55.350 0.197 [ -10.684 | -54.870 0.195 0.196 | 594.524 [ 326.273 0.087
20] 10.403 55.545 0.187 | -10.290 | -54.685 0.188 0.188 | 570.272 | 160.076 0.045
21] 10.399 55.545 0.187 | -10.123 | -54.670 0.185 0.186 | 565.518 | 147.614 0.042
532 2P-1
cycle Pmax 4 max Ke Pmin 4 min Ke verKe W AW Heq
0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1 7.384 6.265 1.179 -9.165 -8.170 1.122 1.146 60.569 26.767 0.070
2 9.266 9.900 0.936 | -10.284 | -10.135 1.015 0976 | 97.981 | 36.594 0.059
3| 11104 | 13.925 0.797 | -12.020 | -13.720 0.876 0.836 | 159.769 | 62.645 0.062
4]  13.052 18.970 0.688 [ -14.174 | -18.470 0.767 0.727 | 254.695 [ 102.260 0.064
5] 16.088 28.200 0.570 | -17.332 | -27.570 0.629 0.599 | 465.762 | 233.774 0.080
6| 18009 | 37.215 0.484 | -19.380 | -36.700 0.528 0.506 | 690.725 | 345.087 0.080
7| 20253 | 55.190 0.367 | -21.678 | -55.410 0.391 0.379 11159.471 | 762.409 0.105
533 3P-1
cycle Pmax O max Ke Pmin o min Ke verKe W AW Heq
0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1] 10674 5.790 1844 | -11133 | -7.365 1512 1658 | 71.899 [ 33.200 0.073
2| 12732 8.350 1525 | -12.607 -9.300 1.356 1436 | 111.779 42.638 0.061
3| 15610 | 12590 1240 | -15192 | -13.400 1134 1185 | 200.051 [ 83.086 0.066
4] 18302 [ 17.065 1072 | -17.731 | -18.210 0.974 1.021 | 317.603 [ 135433 0.068
5| 21.637 25.425 0.851 [ -20.999 | -26.585 0.790 0.820 [ 554.190 [ 303.566 0.087
6] 23.862 34.555 0.691 | -23.352 | -35.345 0.661 0.675 | 824.964 | 443.803 0.086
7| 25872 | 52.945 0.489 | -25.785 | -53.240 0.484 0.486 11371.293 | 968.754 0.112
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534 3P-2

cycle Pmax O max Ke Pmin O min Ke verkKe W AW Heq
0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1] 10.654 5.810 1.834 | -10.467 -5.395 1.940 1885| 59.185| 27.042 0.073
2| 12768 8.590 1486 | -13541 | -8415 1.609 1547 | 111812 | 43514 0.062
3] 15591 | 12.815 1217 | -16.714 | -12.805 1.305 1261 | 206911 | 85477 0.066
4] 18536 [ 17.805 1.041 | -19.454 | -17.550 1.108 1075 | 335.726 | 142.642 0.068
5] 21976 | 26.580 0.827 | -22.736 | -26.240 0.866 0.846 | 590.357 | 326.780 0.088
6] 24167 | 36.170 0.668 | -24.761 | -35.340 0.701 0.684 | 874.587 | 480.512 0.087
7] 26.168 | 54.770 0.478 | -26.733 | -53.775 0.497 0.487 [1435.394 | 1026.186 0.114

535 3P-3

cycle Pmax O max Ke Pmin O min Ke verKe W AW Heq
0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1] 11576 6.045 1915 | -10935| -5.570 1.963 1938 | 65442 | 26.760 0.065
2] 13750 9.010 1526 | -13575 | -8.590 1580 1553 | 120.248 | 43.868 0.058
3] 16669 | 13.380 1246 | -16.408 | -12.950 1.267 1256 | 217.757 | 86.797 0.063
4] 19310 18.345 1.053 | -18.972 | -17.295 1.097 1074 | 341.181 | 142476 0.066
5] 22504 | 27.290 0.825 [ -22.062 | -25.960 0.850 0.837 | 593.432 | 333.546 0.089
6] 24696 | 37.055 0.666 [ -23.968 | -35.495 0.675 0.671 | 882.927 | 484.229 0.087
7] 26652 | 55.600 0.479 [ -25.745 | -53.350 0.483 0481 [1427.673 | 993.743 0.111

5.3.6 4P-1

cycle Pmax 0 max Ke Pmin o min Ke verKe w AW Heq
0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1 7.390 6.185 1195| -7.853| -6.205 1.266 1230 | 47217 | 28.725 0.097
2 9.636 9.325 1033 | -9679 | -9.440 1.025 1029 | 90.613| 66.667 0.117
3] 11956 | 13475 0.887 [ -11571 | -13.855 0.835 0.861 | 160.712 | 127.681 0.126
4] 13599 | 17.820 0.763 | -13.142 | -18.275 0.719 0.741 | 241.252 | 193.060 0.127
5] 15941 | 26.950 0.592 [ -14.933 | -27.500 0.543 0.567 | 420.134 | 381.699 0.145
6] 17419 | 35.680 0.488 | -16.954 | -36.330 0.467 0477 | 618.725 | 553.190 0.142
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7.29kN

14.57kN

20.95kN

20.85kN

21.25kN

24.02kN

5 5 5 5 §5 §

0.06 0.11

1.15MN/rad

1.94MN/rad

3P-2

1P-1
2P-1
3P-1
3P-2
3P-3
4P-1
1P-1 Im 7.40kN
Pu(0.2/Ds)
2P-1 Im 7.18kN
Pu(0.2/Ds)
3P-1 Im 7.10kN
Py
3pP-2 Im 7.02kN
Pu(0.2/Ds)
3P-3 Im 7.04kN
Py
4p-1 Im 5.81kN
Py
3P-1 3 3
Im 7.07kN 3.61 Im
P-1 004
2P-1 0.06 0.10
3P-2 006 011
4P-1 005 011
0.12 019
1P-1 019 0.52MN/rad
3P-1 049 1.66MN/rad
0.49 1.88MN/rad
4P-1 054 1.83MN/rad

0.23 1.29MN/rad
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1/120rad.

1/120rad.

1/120rad.

1/120rad.

1/120rad.

1/120rad.

0.09

3P-1 0.06

2P-1

3P-3

3.77

3.66

3.62

3.58

3.59

2.96

0.11
3P-3

0.38

0.48



1P-1 1/50rad. 147  326kN mm

2P-1 1/50rad. 762kN  mm
3P-1 1/50rad. 968KN mm
3P-2 1/50rad. 1026kN mm
3P-3 1/50rad. 993kN mm
4P-1 1/50rad. 1068kN mm

319 447kN mm
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